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Note: Attempt all the Sections of this question paper.
e U UH @ O WUl P & IO |
Section —A
1. State True or False. (3x1=3)
e AT T 9ad1sY |
(a) Cost accounting is based on Double Entry System.

AT oIEih QIeYl oIl UoTell TR JMERd 2 |

(b)  Direct Material + Direct Labors + other Direct Expenses = Cost of production.

Uge] Al + e 51 + 3R e Y = IdIed olTd

(c) Fixed Cost per unit not remains fixed.

Rer aFTa 9t ga18 Rer =181 W&l 2
2. Fill in the blanks: (2x1=2)
Raa wml & gfif aifmg |
(a) Prime Cost =
el oFTd =
D) e costing is used in Transport Company.
TP AT T H o SANTT AT ¥ 18 SR 2 |
Section —B
3. Short answer type questions. (2x5=10)
Y SR U |
(a) Explain the difference between Financial Accounting and Cost Accounting.
I oRdTT Ud ANTd olRdidh H R T BT |
OR

What are the limitations of Cost Accounting?
AT i@l &1 HHG R 8 ?
(b) Discuss the various methods of determining Labour Turnover Rate.
57 PRI &R 91 B 3l fafi=T Afol R g Sifery |
OR
Define overheads and write their classification.

SyRAT &1 aR¥TT AfTT qerr SHwT FEfieRoT fIRay |
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Section —C
Long answer type questions. (2x10=20)
e IR IR B Y|
1. In a factory 1000 units of product ‘x’ were manufactured in the month of April
2009. From the following figures obtained from the costing records. Prepare a
cost sheet, showing cost per unit:
TP HREM H A 2009 H ‘X’ IUIE Pl 1000 FHISAT P IcTGH GAT | AT 3fHerdl B
= vemell | ufd $oh1s @RI SR §Y U @I U3 18y
(Raw material Consumed) Ycue |rdt Rs. 60.000
(Direct Labour) UcgeT 519 30.000
(Direct Expenses) JIeT g 10.000
(Factory Overheads) BREF IURTY 20.000
(Office Overheads) BT IURETT 10.000
(Selling Overheads) fawa SuRega 20.000
OR
What is Contract Costing? Write a specimen of contract account using imaginary
figures?
é‘c%‘rtrﬁmﬂﬁo—rffrm%? IS FHDI BT TIANT B Y Sdl W Bl T Urwy falkad |
2. Giving examples explain Normal Wastage, Abnormal Wastage and Abnormal

Effectives.
I &7, AT &7 Ud AT 99d Bl S8R0 Sy JHgsy |

OR
Jferar

In a manufacturing Company the profit revealed by Costing record is Rs. 5500,

while the profit as per financial books is Rs. 3600. The following items are not
recorded in Cost books:

Transfer fees Rs. 1000, Cash Discount given Rs. 300., Expenses incurred in
transferring the company’s office Rs. 200, compensations payable at Law Rs.
400, Staff pensions Rs. 500, Bad Debts Rs. 700, Penalties paid for late completion
of contract Rs. 800.

Prepare a Reconciliation Statement.
Tep ol Ao & AT o 5500 %0 BT o9 Ui dRd & 3R fawiid o 3600 %0 T |
feAfeiae wel &1 oaT T YRl H Seold el gall |
TXITRYT e 1000 WO Tha dccl fAT 300 W0, H¥T BRI SHAANT B BT
200 0, dETe &Ifrgfcl 400 %0, T U=A9 500 W0, SId FIT 700 W0, <X A ST Yol B
TR WRT IRAT AT 800 %0 |

U THTETH e ERIERE
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